far = AT R ET T Bl i 2 AN A

i =

(B4 5]« AARND )

A F54E6 H K H BL{E
HT HK A0 (58) A (40) An GH
H #HT 475 395 392 787
AT 1,791 1, 660 1,799 3,459
JHET 975 892 833 1,725
== 1T 1,255 993 1,051 2,044
FFHT 1,949 1,812 1,908 3,720
JTHT 1,648 1,700 1,835 3,535
i 844 931 972 1,903
A AET 613 520 569 1,089
At ZEHT 896 866 891 1,757
BT 699 629 624 1,253
HAET1 T H 884 844 848 1,692
HARET2 TH 806 785 764 1,549
PEFTIR 1 T H 2,198 1,852 1,973 3,825
VEETIR 2 T H 976 873 916 1,789
FRET 1T H 1,584 1,314 1,673 2,987
T2 TH 1,249 958 1,116 2,074
kAT 3 T H 1,425 1,431 1,520 2,951
T4 TH 2,850 2,646 2, 874 5, 520
SRHET 931 900 941 1,841
FRAEHT 1,212 1, 157 1,243 2, 400
EFIT1 TH 518 449 497 946
EJFET2 TH 783 852 801 1,653
KT 3 T H 730 723 709 1,432
EJFIT4 TH 212 215 198 413
EJFET5 TH 471 450 193 943
AL P IR BT 1,107 1,137 1,087 2,224
[ B AT 1,579 1,658 1,777 3,435
FiEs 1,202 1,252 1,305 2,557
E1TH 428 462 495 957
tE 2 TH 623 739 743 1,482
tE3TH 479 540 532 1,072
EE4 T H 404 518 492 1,010
FAZENT 1,404 1, 055 1,098 2,153
=L 722 704 729 1,433




far = AT R ET T Bl i 2 AN A

i =
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S F54E6 A K HBIUE
HT 4 H Ao () A0 (&) UNEINGY!
Z A LHT 1,024 842 1,031 1,873
ERNET 903 965 994 1,959
KETHH 161 93 148 241
[icg gzl 873 914 883 1,797
HOHTHHT 1,011 1,094 1,082 2,176
KFEHE 1,743 2,031 2,012 4,043
KFFRIL 1,512 1,533 1,601 3,134
Al - /N 6, 187 6,391 6, 369 12, 760
KT TNLEm 4,924 5,378 5,378 10, 756
KR EE 4,764 4, 561 4, 625 9, 186
WAL 966 800 841 1, 641
[EREa 490 403 406 809
S 1,506 1,364 1,466 2,830
EoE1TH 542 535 506 1,041
BEo=2TH 717 639 646 1,285
KFEA K 4,756 5,005 5,031 10, 036
KFEFIE 3,415 3, 662 3,671 7,333
KFA 11,067 11,579 12,125 23,704
K7 Eilin 2,007 2, 066 2,046 4,112
/INFFRET1 TH 2, 630 2, 330 2,716 5, 046
/INFFRET2 TH 1,272 1,233 1, 204 2, 437
/INFFRET3 TH 2, 437 2,207 2,481 4, 688
/INFFRET4 TH 1, 590 1,489 1,522 3,011
KEd s 1,062 1,174 1,157 2,331
KFEFE 2,371 2, 567 2, 649 5,216
KFAH A A 728 627 719 1,346
== = 849 992 989 1,981
KFEdsit 75 110 89 199
1 T H 906 989 1,029 2,018
2 TH 971 1,089 1,110 2, 199
B3 T H 869 774 892 1, 666
B4 TH 679 699 797 1,496
w5 TH 791 796 873 1,669
KFEWRZF 328 314 335 649
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BI54E6 H K H B
my 4 A AR (B AR (&) AR GH
KT 203 249 234 483
KPR 809 951 981 1,932
RF-H HH 144 183 179 362
KFBTH 151 183 164 347
KFHIH 16 21 19 40
KFFE A 461 542 501 1,043
Pl 1 TH 1,064 1,022 1,140 2,162
il E2TH 1,128 1,146 1,201 2, 347
=M1 TH 948 1,010 1,086 2,096
M2 TH 356 324 386 710
3 TH 830 853 886 1,739
A TH 1,207 1, 140 1,184 2,324
HRLAr 1 TR 1,646 1,488 1,627 3,115
WL F2 TH 1, 409 1,531 1, 549 3, 080
Bkl 3 TH 781 835 929 1,764
WL F4 T H 368 219 311 530
WL E5 T H 159 152 170 322
WL 6 TH 589 482 572 1,054
Pl 1 TH 1,079 1,125 1,094 2,219
w2 TH 324 334 369 703
farE1TH 1,491 1, 435 1, 400 2,835
My 2TH 675 726 735 1,461
M3 TH 863 832 851 1,683
#1TH 277 345 305 650
H2TH 270 327 328 655
#3TH 1, 406 1,424 1, 461 2,885
= &1TH 369 448 406 854
= E2TH 190 218 222 440
= &3TH 288 356 338 694
=E4TH 426 490 451 941
—&5TH 685 725 703 1,428
HEA 340 405 390 795
| 225 280 282 562
WA2TH 932 905 886 1,791
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SFn54E6 H K HBIE
i) % A (59) AB (%) UNEGD)
WA3TH , 070 1,391 1,515 2,906
WAR4TH 113 82 126 208
WA7TH 336 351 368 719
WA TH , 541 1,166 1, 402 2,568
FRER1ITH , 734 1, 864 1,912 3,776
FRER2TH 938 1,008 981 1,989
1 TH 235 256 271 527
2 TH 484 586 627 1,213
It 3TH , 034 1,145 1,177 2,322
4 TH 60 80 71 151
e [ B 352 422 393 815
bR T 641 581 651 1,232
AT IR 593 714 734 1,448
WETIR1 T H , 485 1,479 1,316 2,795
WATIR 2 T H , 381 2, 646 2, 457 5,103
WRETIR 3 T H , 560 1,642 1,476 3,118
WATIR 4 T H 450 528 467 995
WAETIR5 T H 820 775 745 1,520
RPTRFIE 1 T B ,328 1,452 1,294 2, 746
WHATRAIE 2 T H 321 1,366 1,318 2, 684
WHTRAIE 3 T H 868 955 877 1,832
<TDEHE1ITH 437 290 377 667
<TDEH2TH 712 655 597 1,252
<TDEHE3ITH 887 729 820 1,549
TER1ITH 147 151 141 292
TER2TH 413 532 502 1,034
HEm 3 T H 552 606 597 1,203
TER4TH 599 652 649 1,301
MMRE1TH 683 763 788 1,551
MMRE2TH 708 769 844 1,613
INFFRFE1TH 551 619 679 1,298
INFEFRFE 2 TH 550 575 621 1,196
INFfER 3T H 899 1,019 974 1,993
INFfER4 T H 799 968 964 1,932
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BI54E6 H K H B
i) W A (59) AR (&) AR GH
INFHER 5 T H 559 763 689 1,452
/INFFERG 6 T H 611 603 626 1,229
/INFFEET 5 T H 582 590 584 1,174
WNFRRTET 1 T H 763 767 727 1,494
/WNFfRTET 2 T H 561 617 587 1,204
/NFFRTHT 3 T H 826 1,035 1,030 2, 065
JEEFHHET 1 T H 90 106 116 222
LB 2 T H 26 36 21 57
¥ 1 TH 279 315 308 623
¥ 2 TH 157 181 188 369
¥ 3 TH 184 135 198 333
B 1 TH 99 121 128 249
kB2 TH 141 177 176 353
B3 TH 145 170 180 350
EFH1TH 822 805 809 1,614
E#FH2TH 1,253 1,380 1,337 2,717
EHFIE3ITH 1,396 1, 565 1,564 3,129
EHFI4TH 1,325 1,447 1, 542 2, 989
EHFIESTH 1,684 1,873 1,911 3,784
INEEE 886 969 963 1,932



















